1.

Q@ g A G AEZol a o

© a7} AR 16 o] o — 4 o],
@ﬂ%%gﬂ&%%dﬁ.

@ 25 o Al +5 o[t

=)
>
I

Ql\’)
o
o

> o
> o=
> =
> ©
> ®E: ©
>3 @
4 4 2
eAgai-fi-2




2.

O<a<19M,0<1-a<1°]BEZ t}&o] A}

Va-12-/(1-a?=-(a-1)-(1-a)
—-a+1-14+a=0




2<x<34m, /(x+2)2- /(x=-3)2+213 - 5 T3] 51
2},

> E:
> &HE: 5
—2<x<34d,

Vx+2)2- /(x-3)2+23-x
=x+2+x-3+6-2x=5




% 2491% a, b ol sto] VTG = b & T, a+ b o] A%ALE Tl
ofe.

> E:

> =gl 120

—€B ‘
V270a = V33 x2x5xa

=T Qo] AQl¢9] X7l BT BT1 Elojol SlER ¢
3x2x5=30°|th

a S YASIH V2700 = V33 x2x5xa = V34 x 22 x52
32 x2x5=bo|t}.

2bA b = 90 ot




>4

-4-3B COE 2 3 D5

-6 A

il
)

“b=1-+10,d =1+ V10

“b+d=1-+V10+1+

10 =2

iy
o
68
[
I <
mw@

I
|T2
Q_u__
— <
+ +
SIS
P
n
b+
I <
C(
+ X
S fr
=




